= one foot

three inches

one foot

one and one half inches

one foot

one inch

one foot

three quarters inch

6"

GII

6"

6"

= one foot

one half inch

one foot

three eighths inch

= one foot

one quarter inch

= one foot

one eighth inch

16

1 2 3 4 5 6 7 8 9
1. GAS LINE PENETRATION INTO 7. INCOMING MEDIUM GAS PIPE. SEE 1. FINISHED GRADE DRAIN LINE SHALL BE AT LEAST THE SAME
BUILDING WITH CAPPED DIRT LEG PLAN FOR SIZE. 5 94” X 24”7 X g SIZE AS THE NIPPLE ON THE DRAIN PAN
AND SHUT-OFF VALVE. SEE PLAN 8 127X12"X3” CONCRETE PAD. - PIPING SHALL BE RIGID COPPER TYPE L OR
FOR SIZE. 9. STATE CERTIFIED EARTHQUAKE DEEP CAST TYPE M UNLESS NOTE BELOW IS MET
2. PROVIDE SCREW TYPE CONNECTION. VALVE. INSTALL PER CONCRETE "IN
3. UNION. (TYP.) MANUFACTURERS REQUIREMENTS & UNPAVED AREA PITCH DOWN D
4. GAS PRESSURE REGULATOR VALVE. SPECIFICATIONS. : TOWARD DRAIN | @
REGULATE 6 PSI TO 7" WATER 10. ELSTER GAS METER WITH REMOTE LABEL COVER F 1. VENT STACK
COLUMN. VOLUME PULSER FOR DATA . , » » .
5. INSULATED GAS SERVICE VALVE. MONITORING BY EWS. mr-—. -\ CSI_I_IZZVAVIEIEUT PLUG cHEAT ot 1 < mnEnnn i —C) L SANTARY TEE
6. LISTED ISOLATION FITTING. = ." ‘ g JE= DRAIN ] 4 CHROME PLATED COVER &
NELES] CAST IRON_FERRULE IR 1= P ® Favcer see
- 11 & BRASS PLUG L ””_' S — T L+ g LgREﬁggchbgaNG SPECIFICATIONS
iR pr— m C . -
. 1/2" SLOPE [} 1=I11 1. FINISHED FLOOR OR DIELECTRIC STAINLESS STEEL COVER LAMINAR FLOW
PRE—CAST CONCRETE =] [=Ill] ) g:_g)éi (\évﬁsl_{f'CONCRETE @év FITTING ° 7.DRAIN LINE CONTROL DEVICE
BOX WITH CAST IRON " BOX WITH CAST IRON | f%\ /Ll\ /_,\J\
COVER. (CHRISTY #B3 COVER. LABEL THE SEE DETAIL 3 FOR | G o~
@ COVER WATER . CONTINUATION - He
e ! W/ C.I. LID) e 3. VIT CLAY OR PVC [TITITRATT] WP }é
|3 7. EXTENSION o Onono O SHERE NOTE: 1. CPVC PIPE MAY BE USED ONLY IF APPROVED BY ] mg\g\ /g/ ol
. ] (3) 8  TWO WAY — - LOCAL VA AND IS INDOORS AND DOES NOT PASS THROUGH @ PO W O~
COMBINATION -— 0O RATED BARRIERS. LI NECEL *F200mm]
e 2. DIELECTRIC FITTING TO BE USED WHEN TWO DISSIMILAR e M R a
NOTE: ALL CLEANOUT 0 Q METALS ARE TO BE CONNECTED. @ e CUTCHEON Bus OFFSET
é EACH OTHER SHALL BE \@ - Co FINSHED | o3 TRAP
(&) LINED UP WITH EACH DRAW THRU | 27 [S0mm] | x [ FLOOR 5% PARALLEL
T = G a - OTHER AND PARALLEL TO
WSS ﬂﬁm_”m_am_lm” ﬁﬂﬁ; SIDEWALK ORBUILING WALL. BLOW THRU | 1 [25mm] | ox
— E_E_E_E_E_E_EI
O = = =T=M=T=i 14" TWO WAY CLEANOUT (COTG) @ SHUTOFF VALVE e e P @ WALL CLEANOUT (WCO) @ TYPICAL WHEELCHAIR LAVATORY DETALL
NTS NTS NTS NTS
— (3) 8 CONDENSING UNIT DRAIN TRAP DETAIL
NTS
7 GAS METER + REGULATOR
NTS 1. 24" X 24" X 6 1. FINISHED ROOF.
DEEP CAST 1. SINK 5 DISPOSAL 9 WALL CLEAN=OUT. 2. SHEET METAL FLASHING. ) ” A g&%““lexi;/*%ogf%ggﬁ% N
CONCRETE IN 2. DISHWASHER 6. 3/4” HOSE ¥ arounp, - A 1.LINE EXTENSION BELOW o o T CavaToRy (O A MIN- 4 STUDS PER
UNPAVED AREA. 3. AR GAP FITTING 7. VENT 5 SCREW_BAND. FLOOR TO FIXTURE. s 1 \f—— TR
2. LABEL COVER 4. COUNTER TOP 8. WASTE COUNTERFLASHING. 2.CAST IRON FERRULE & [131mmia GALV. i NS/
@ "SEWER” : MACHINE™ BOLTS %)
5. WYE AT END OF RUN. WELDED TO PLATE—— n =
3. CLEANOUT PLUG. /@ @\ MIN. (3) 1/4” [6mm] ::3| <
CAST IRON i MACHINE BOLTS =3 =
EEEEUI—E & BRASS @ @ @ O /_@ NS O ko sipe———=%
| |
ST frs 4. 1/2” SLOPE T ) ) A 4 Eé::ii\ /4
1. SEALANT—JOINT, 1/4” MIN. =T T 5  PRE_CAST 7_@ = @—>|||||||||||8 —
WIDTH BY 3/8” DEEP. === m Te=ne — d ©
2. PIPE. / _Hlllﬁ : l=HE= CONCRETE BOX @_7 1/4” [6mm]@ MOLLY BOLT HOLLOW
3. INTERIOR FACE OF WALL. T WITH CAST IRON 4% WALL ANCHOR (1 EA. SIDE OF LAV)
4. FRAMED WALL. CO\/ER i 00 00
5. BACKUP MATERIAL. 9 . PLAN
2 BACKLF 6. PLUGGED WYE AT s @j 6 = @ \ort.
7. ESCUTCHEON. END OF RUNS 1. AT LAVS WITH FOOT PEDAL CONTROLS
8. EXTERIOR FACE OF WALL. 7. NO—HUB COUPLING g O \, GALVANIZED STEEL PLATE 127¢16"
7 W/ STAINLESS S [23%%%050??% SECURED 10 A MINIMUM OF
STEEL SHIELD ] ] '
(TYP) ~ E‘% > PROVIDE ZO,GA(gE STUDS WHEN HEIGHT
F —5 @ ?Eg EXCEEDS 12'-0" [3600mm)]
[ip) BO
— " STEEL HANGER BY LAV MFGR
PIPE THROUGH EXTERIOR WALL SURFACE CLEANOUT (COTQ) TYPICAL DISHWASHER HOOK-UP PIPE THROUGH THE ROOF CLEANOUT IN ATTIC (CO) STEEL WALL PLATE —|
18 NTS 15 NTS 12 NTS 9 NTS 5 NTS
WALL ANCHOR —— ||
STUDS\
~ "FOR FIXTURE
1. DIRECT VENTED WATER HEATER. HANGER ROD ARGHITECTURAL
4 SEE DETAIL 16/PP401. W SECTION A DRAWINGS
- 1. EQUIPMENT FLUE. 2. MOUNTING BRACKET. PROVIDE 4X INSULATION (VAPOR
1 » 2. COMBUSTION AIR INTAKE. BLOCKING TO STUDS WITH SIMPSON
APPROX 4 5. FLASHING (BY SAME MFR). A34 TOP AND BOTTOM EACH END. REMPERATURE PIPE) ‘ LAV
S 4. EXISTING ROOF. 3-8d NAILS PER A34 LEG.
5. SCREW TO BE INSTALLED FROM M PROVIDE 3/8" X 3" LAG BOLT T0 N A @ ATORY MOUNTING DETAIL
INSIDE OF SLEEVE INTO WOOD BLOCKING. (2) REQUIRED PROVIDE HIGH COMPRESSIVE 1.CONDENSATE DRAIN LINES NTS
12" MIN @/ BLOCKING. (TYP. OF 4 PLACES). ™~ PER BRACKET. ) STRENGTH [NSULATION (9 PSP ( )—="  2.SECURE PUMP TO SIDE OF
' 6. 2X BLOCKING (TYP. OF 4). USE /@ 3. UNION (TYPICAL). ) ‘ UNIT WITH #8 S.M. SCREW
SIMPSON A35 JOIST HANGER AT 4. CHECK VALVE, MOUNT HORIZONTALLY. AVOIDING ACCESS PANELS OR
3 EACH END. = o) \ 5. CIRCULATING PUMP — SEE PLUMBING ANY INTERNAL UNIT PARTS.
7. CLAMP W/ 1/4°@ BOLT, NUT SCHEDULE. NSULATION. SHIELD [ (TYP OF 2)
1. COLD WATER MAIN 4 ] AND LOCK WASHER. @ 6. AMTROL ST—5 THERM—X—TROL AT HANGER (] A
INLET. ] 8. 20 GA. GALV. STEEL. ALLOW EXPANSION TANK. ] —SADDLE i
2. SENSUS "V INTEGRAL - ASS’Y TO SLIDE FREELY WATER 7. HOT WATER RETURN. ADJUSTABLE CLEVIS HANGER TYPE 1 ADJUSTABLE CLEVIS HANGER TYPE 43 @ 1. LAVATORY OR SINK
STRAINER. R THROUGH SLEEVE. HEATER 8. HOT WATER SUPPLY LINE. — SEE SPECIFICATIONS — SEE SPECIFICATIONS 2. SLIP—JOINT FITTING
3. SENSUS OMNI T % 9. 20 GA. GALV. SHEET METAL 9. AQUASTAT MH NO. L4006A SET TO 3 @'\ 3. TRAP
VRVQ&%RFEM\%ESMVEV'TH 6 STRAP W/ #10 X 1-1/4" START AT 125" AND STOP AT 1355 PROVIDE INSULATION SHIELD 1/2” [15mm] DIA. 4. AREA CLEAR FOR
PULSER FOR i 9 ) SCREW INTO STRUCTURE. LOCATE MIN 10’—0" UP STREAM & INSERT FOR ALL PIPING ~/HANGER RODS WITH \ CBC ACCESSIBILITY.
FROM WATER HEATER. (8" [200mm] MIN.) 36" [900mm] MAX. 5. FINISHED FLOOR
MONITORING BY EMS. ~ SPACING. oM EACH
4. COLD WATER MAIN 8 10. COLD WATER SUPPLY LINE. SPACING 6. CONDENSATE DRAIN
OUTLET. / oa— 11. BALL VALVE (TYPICAL). = N IN WALL.
0T d 7 MT 12. 4" LONG DIRT LEG. r 7 SAND — 7. NEOPRENE HOSE & CLAMPS
= = = 13. GAS VALVE. - . = —( :) 8. ESCUTCHEON PLATE
0 gp d il 1-5/8" [43mm] 12 GAUGE e 9 WALL
i ql1_|h M 14. ROUTE DRAIN TUBE TO EXTERIOR. \oTES: — CHANNEL. OR 2%2"x1,4” = :
- - 1 2 15. GAS SUPPLY LINE. SEE SPECIFER FOR DETAILED X = [50x50x6.4mm] ANGLE & >
4 ¥ S 5 16. VERTICAL DRAINPIPE MQOUNT IN HANGER REQUIREMENTS <|E = Eﬁmi
0 -0 V o EXHAUST VENT. <18 °l . L .
® Rt T
WATER METER CONCENTRIC VENT/COMB. AR t ' CONDENSATE LIFT PUMP MOUNTING & (O
19 16 ' < MAXIMUM PIPE/TUBING SUPPORT SPACING 6
NTS NTS 5 2172 5 8 NTS 9
ow. SEE 4y ko £ | (251 | 11 | wdl | ts0) | (o9 (71 |00y |12 | | o : ® NOTE.
FT. 7 7 7 9 10 "] 12 | 14 16 17 19 o NI, ’
PIPE [mrh] [2100]  |[2100] |[2100]|[2700] |[3000] | [3400]|[3700] |[4100] |[4900] | [5200] | [5800] @\ EEE i?:%lgggglL?TYDRFeAE\A(QU%SEMFE%RTS
. 6 7 8 8 10 12 13 14 16 ’
5 TUBING [Ty (Tsge)  |rrsoat|ratoot|pasoo o400 (27001 3000] 3700] 140067 | 41007 | pesocy
NOTE: FOR TRAPEZE HANGER TAKE SPACING OF SMALLEST SIZE ON TRAPEZE.
>
@ PIPE HANGERS @ CONDENSATE TO TAILPIECE DETAIL
NTS NTS
i GAS-FIRED INSTANTANEOUS WATER HEATER
NTS :
1. COLD WATER INLET.
2. RECESSED WALL BOX.
3. BALL VALVE.
4. WATER HAMMER
ARRESTER PDI-A.
12"
FLOOR
@ COLD/HOT WATER SUPPLY BOX
1 PLUMBING DETAILS NTS
% SCALE: NTS
CONSULTANTS: ARCHITECT/ENGINEERS: BLUM Monts - 70217
: : PLUMBING DETAILS Mental Health Psychosocial 570-217 Office of
Rehab Recovery and Health Care |[gyiiging Number Construction
LP Consulting Architects for Homeless Veteran Center 37 and Facilities
Engineers, Inc. 1827 E. Fir Avenue / Studio 103 / Fresno, CA 93720 Approved: Project Director Location Drawing Number Management-
= T 559 322 2444/ www.hmcarchitects. .
HMC PROJECT #1393002.:000 2615 E. CLINTON AVE, FRESNO, CA 93703
895 W. Ashlan Ave, Suite 101 Clovis, CA 83612
PESO-UB2130 - 15663482131 Date Checked | Dravn PP401 QR Department of
mm1l'1'!,!1'm"”1' 8/ 11/ 2014 PD, GL DN Dwg. of Veterans Affairs
1 2 3 4 5 6 7 8 9 |




